1.

Masonry Design
Homework 3
April 11, 2005

Check the DPC Gymnasium north wall on Grid Line A as an unreinforced composite
wall using 4” nominal face brick and 12” concrete masonry units with a 2” grouted collar
joint. If the wall fails, suggest a method to make it pass.

Properties
Block: £ = 1,500 psi, Ey, = 2.08(10)° psi, block is ungrouted
Brick: unit strength= 8 ksi, B, = 2.4(10)° psi
Grout, f, = 5,100 psi, Eg = 2.55(10)° psi

Bearing plate
6” x 12” (12” dimension along the wall) positioned so the back edge of the plate
1s at the interface between the concrete block and grout.

Loads
Pp=4,9601b
Pp+ = 14,900 1b
Wind load = 20 psf on a 24’ high wall (pinned top and bottom)
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